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SECTION-A 

1 से 40 तक के प्रश्नों के चणय विकल्ऩ दिए गए हैं। इनभें से केिर एक सही है। 
आऩको उन सही विकल्ऩों को चनुकय उत्तय-ऩत्र भें चचह्ननत कयनण है 

 

1. ननमोजन होतण है 

(a) बतूकणर के मरए 

(b) बविष्मकणर के मरए 

(c) िततभणन के मरए 

(d) सबी सभम के मरए 

 

2. प्रफॊध के ककतने स्तय है ? 

(a) 3 

(b) 4 

(c) 5 

(d) 6 
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3. उिणयीकयर् कण अर्त है 

(a) विश्ि की विमबन्न अर्तव्मिस्र्णओॊ कण एकीकयर्  

(b) रणइसेंस की आिश्मकतणओॊ एिॊ ननमॊत्रर्ों को आसणन कयनण 

(c) सणितजननक ऺेत्र भें विननिेश  

(d) इनभें से कोई नहीॊ 

 

4. एक अच्छी मोजनण होती है  

(a) खचीरी  

(b) सभम रेने िणरी  

(c) रोचऩरू्त  

(d) अनम्म 

 

5. 'प्रफॊध एक ऩेशण है।' मह कर्न है 

(a) जणजत आय० टैयी 

(b) हेनयी पेमोर  

(c) अभेरयकन प्रफॊध एसोमसएशन 

(d) रॉयेन्स ए. एप्ऩरे 

 

6. ननमोजन सबी प्रफॊधकीम कणमों कण है। 

(a) प्रणयॊब 

(b) अॊत  

(c) प्रणयॊब एिॊ अॊत िोनों 

(d) इनभें से कोई नहीॊ 
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7. प्रबणिशणरी अचधकणय हस्तणॊतयर् के मरए उत्तयिणनमत्ि के सणर्.................होनण अनत 
आिश्मक है। 

(a) अचधकणय  

(b) भणनि शह्तत   

(c) प्रोत्सणहन  

(d) प्रोन्ननत 

 

8. सॊगठन के जीिन भें बती होती है। 

(a) ननयॊतय 

(b) कबी-कबी 

(c) एक फणय  

(d) िो फणय 

 

9. प्रबणिी सॊिेशिणहन भें...........बणषण कण उऩमोग नहीॊ होनण चणदहए।  

(a) स्ऩष्ट  

(b) प्रबणिी  

(c) अस्ऩष्ट 

(d) शणरीन 

 

10. िऻैणननक प्रफॊध के जन्भिणतण कौन र्े ? 

(a) एच. एस. ऩसतन्स 

(b) डणइभय 

(c) एप. डब्लल्म.ू टेरय 

(d) चणल्सत फिैेज 
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11. प्रमशऺर् की विचधमणॉ हैं 

(a) सम्भेरन  

(b) व्मणख्मणन  

(c) प्रमशऺर्णर्ी प्रमशऺर्  

(d) इनभें से सबी  

 

12. हेनयी पेमोर के प्रफॊध के मसदधणॊत है 

(a) 10  

(b) 3  

(c) 14 

(d) 15 

 

13. वित्तीम प्रफॊधक ननर्तम रेतण है। 

(a) वित्तीम  

(b) विननमोग 

(c) रणबणॊश  

(d) इनभें से सबी 

 

14. प्रबणिी ननमॊत्रर् है 

(a) ह्स्र्य  

(b) ननधणतरयत 

(c) गत्मणत्भक  

(d) इनभें से सबी 
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15. ऩमतिेऺर् तत्ि है 

(a) नेततृ्ि कण  

(b) ननमोजन कण  

(c) ननिेशन कण  

(d) इनभें से कोई नहीॊ 

 

16. ऩूॉजी फणजणय व्मिहणय कयतण है 

(a) अल्ऩकणरीन कोष भें 

(b) भध्मकणरीन कोष भें  

(c) िीघतकणरीन कोष भें  

(d) इनभें से सबी 

 

17. उऩबोततण सॊयऺर् अचधननमभ ऩणरयत हुआ र्ण 

(a) 1886 भें  

(b) 1986 भें 

(c) 1996 भें 

(d) 1997 भें 

 

18. सेफी कण भखु्मणरम है 

(a) दिल्री  

(b) भमु्फई 

(c) कोरकणतण 

(d) चने्नई 
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19. गे्रऩिणइन हैं 

(a) औऩचणरयक सॊचणय 

(b) सॊचणय भें फणधण  

(c) सभणॊतय सॊचणय 

(d) अनौऩचणरयक सॊचणय 

 

20. विऩर्न भें सह्म्भमरत होतण है  

(a) क्रम  

(b) विक्रम 

(c) बण्डणयर् 

(d) इनभें से सबी 

 

21. विऻणऩन भणनण जणतण है। 

(a) अऩव्मम  

(b) विननमोग  

(c) विरणमसतण 

(d) इनभें से कोई नहीॊ 

 

22. फैंकों से अचधविकषत की सवुिधण उऩरब्लध होती है। 

(a) फचत खणतों ऩय 

(b) चणर ूखणतों ऩय  

(c) मभमणिी जभण खणतों ऩय 

(d) इनभें से कोई नहीॊ 
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23. निीन ननगतमभत अॊशों भें कौन व्मिहणय कयतण है ? 

(a) गौर् फणजणय 

(b) प्रणर्मभक फणजणय 

(c) गौर् फणजणय एिॊ प्रणर्मभक फणजणय िोनों  

(d) इनभें से कोई नहीॊ  

 

24. फजट प्रफॊधकीम नीनत कण..........विियर् होतण है। 

(a) वित्तीम  

(b) अॊनतभ  

(c) कणमत कण  

(d) गैय-वित्तीम 

 

25. नई आचर्तक नीनत के प्रभखु अॊग है 

(a) उिणयीकयर्  

(b) िशै्िीकयर्  

(c) ननजीकयर्  

(d) इनभें से सबी 

 

26. अचधकणय कण हस्तणॊतयर् नहीॊ ककमण जण सकतण है  

(a) िैननक कणमत कण 

(b) गोऩनीम कणमत कण 

(c) सणधणयर् कणमत कण 

(d) इनभें से कोई नहीॊ 
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27. प्रशणसननक प्रफॊध के प्रस्तुतकतणत रे्  

(a) पेमोर  

(b) टेरय 

(c) टैयी 

(d) इनभें से कोई नहीॊ 

 

28. कभतचणरयमों की स्िेच्छण ऩय ननबतय कयतण है  

(a) औऩचणरयक सॊगठन 

(b) अनौऩचणरयक सॊगठन  

(c) कक्रमणत्भक सॊगठन  

(d) विबणगीम सॊगठन 

 

29. सभन्िम हैं 

(a) ऐह्च्छक 

(b) आिश्मक 

(c) अनणिश्मक 

(d) सभम की फफणतिी 

 

30. स्र्णमी ऩूॉजी की आिश्मकतण.......... अिचध के मरए होती है। 

(a) अल्ऩकणरीन 

(b) िीघतकणरीन  

(c) अल्ऩ एिॊ िीघत िोनों  

(d) इनभें से कोई नहीॊ 
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31. ननमॊत्रर् प्रफॊध कण............ऩहर ूहै। 

(a) सदैधणॊनतक  

(b) व्मणिहणरयक 

(c) भणनमसक 

(d) बौनतक 

 

32. ननम्न भें से कौन उदममभतण की विशषेतण नहीॊ है ? 

(a) जोखखभ रेनण 

(b) निणचणय 

(c) सजृनणत्भक कक्रमण  

(d) प्रफॊधकीम प्रमशऺर्  

 

33. सॊगठन के उदिेश्म को प्रणप्त कयने के मरए िहृद मोजनण भणनी जणती है  

(a) नीनत के रूऩ भें 

(b) कणमतक्रभ के रूऩ भें 

(c) उदिेश्म के रूऩ भें 

(d) यर्नीनत के रूऩ भें 

 

34. प्रबणिी सॊिेशिणहन भें फणधण है 

(a) बणषण  

(b) ियूी 

(c) व्मह्ततगत मबन्नतणमें 

(d) इनभें से सबी 

bsebresult.in



 

35. ननम्न भें से कौन-सण उऩबोततण उत्ऩणि नहीॊ है ?  

(a) कच्चण भणर  

(b) येफ्रीजयेटय  

(c) ऩयुणनी भनूततमणॉ  

(d) जूत े

 

36. उऩबोततण सॊयऺर् अचधननमभ के अॊतगतत वििणि आते हैं  

(a) कॊ ऩनी के अॊश की बफक्री सॊफॊधी वििणि 

(b) िह्ण्डत प्रकृनत के वििणि 

(c) विके्रतण दिणयण िोषी भणर के विक्रम सॊफॊधी वििणि  

(d) नौकयी सॊफॊधी वििणि 

 

37. बणयतीम उदममभतण विकणस सॊस्र्णन ह्स्र्त है  

(a) अहभिणफणि भें  

(b) भमु्फई भें  

(c) नई दिल्री भें  

(d) चने्नई भें 

 

38. अपिणह पैरणने िणरे सॊगठन होते हैं।  

(a) औऩचणरयक 

(b) अनौऩचणरयक  

(c) केन्रीकृत  

(d) विकेन्रीकृत 
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39. िणखर्ह्यमक प्रऩत्र की अचधकतभ अिचध होती है 

(a) 3 भहीने  

(b) 6 भहीन े

(c) 12 भहीन े

(d) 24 भहीन े

 

40. स्कॊ ध विऩर्ी............की दहत की सयुऺण कयती है। 

(a) ननिेशक 

(b) कम्ऩनी   

(c) सयकणय 

(d) ककसी कण नहीॊ 

 

SECTION - B 

प्रश्न सॊख्मण 1 से 10 तक रघ ुउत्तयीम कोदट के हैं। प्रत्मेक प्रश्न के मरए 3 अॊक 
ननधणतरयत हैं। 

 

1. प्रफॊध के स्तय से आऩकण तमण अमबप्रणम है ?  

2. सॊगठन प्रकक्रमण के विमबन्न चयर्ों को फतणइए।  

3. ऩूॉजी सॊयचनण से तमण अमबप्रणम है ? 

4. केन्रीकयर् एिॊ विकेन्रीकयर् के फीच अॊतय कीह्जए। 

5. िऻैणननक प्रफॊध के ककन्हीॊ तीन मसदधणॊतों को सॊऺेऩ भें फतणइए ।  

6. फजटयी ननमॊत्रर् के तीन रणबों को फतणइए। 

7. उदममभतण को सजृनशीर कक्रमणकरणऩ तमों सभझण जणतण है ? 

8. ननमोजन एक ननयॊतय चरने िणरी प्रकक्रमण है, कैसे ? सभझणइए ।  
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9. सॊिदतधन मभश्रर् ककसे कहते हैं ? 

10. औऩचणरयक एिॊ अनौऩचणरयक सॊपे्रषर् भें अॊतय कीह्जए।  

 

प्रश्न सॊख्मण 11 से 15 तक िीघत उत्तयीम कोदट के हैं। प्रत्मेक प्रश्न के मरए 6 अॊक 
ननधणतरयत हैं। 

 

11. 'विऻणऩन ऩय व्मम एक सणभणह्जक अऩव्मम है।' तमण आऩ इससे सहभत है ? 

12. ननमहु्ततकयर् से आऩ तमण सभझते हैं ? तमण मह भणनि सॊसणधन प्रफॊध कण एक 
बणग है? स्ऩष्ट कयें।  
13. 'सभन्िम प्रफॊध कण सणय है।' इस कर्न कण िर्तन कीह्जए।  
14. एक प्रबणिी सॊगठन के मरए अॊतयर् तमों आिश्मक है ?  
15. वित्तीम प्रफॊधन को ऩरयबणवषत कीह्जए एिॊ इसके उदिेश्मों कण िर्तन कीह्जए 

 

 

******* 
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SECTION - A 

1. Planning is  

(a) for past 

(b) for future 

(c) for present 

(d) for all time 

 

2. How many levels of management are there? 

(a) 3 

(b) 4  

(c) 5 

(d) 6 

 

3. Liberalisation signifies 

(a) integration among various economies of the world  

(b) easing of licensing requirements and other controls 

(c) disinvestment in public sector 

(d) none of these 
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4. A good plan is 

(a) expensive 

(b) time consuming 

(c) flexible 

(d) rigid 

 

5. "Management is a profession." This statement is of 

(a) George R. Terry 

(b) Henry Fayol 

(c) American Management Association  

(d) Lawrence A. Appley 

 

6. Of all managerial activities planning is the 

(a) beginning 

(b) end 

(c) beginning and end both 

(d) none of these 

 

7. For delegation of authority to be effective, it is essential that responsibility 

accompanied with ............. is necessary.  

(a) authority  

(b) manpower 

(c) incentives 

(d) promotion 
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8. Recruitment in the life of organisation is 

(a) continuous  

(b) occasionally  

(c) once 

(d) twice 

 

9. In effective communication.............language should not be used. 

(a) expressive  

(b) impressive 

(c) ambiguous  

(d) courteous  

 

10. Who was the father of scientific management ? 

(a) H. S. Parsons  

(b) Diemer 

(c) F. W. Taylor 

(d) Charles Babbage 

 

11. Method (s) of training is/are 

(a) conference  

(b) lectures 

(c) apprenticeship 

(d) all of these 
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12. Henry Fayol's principles of management are 

(a) 10 

(b) 3 

 (c) 14 

(d) 15 

 

 13. Financial manager takes decision as to 

(a) finance 

(b) investment 

(c) dividend  

(d) all of these 

 

14. Effective controlling is 

(a) static 

(b) pre-determined 

(c) dynamic 

(d) all of these 

 

15. Supervision is an element of 

(a) leadership 

(b) planning 

(c) direction 

(d) none of these 

 

16. Capital market deals in  

(a) short-term funds 

(b) medium-term funds  

(c) long-term funds 

(d) all of these 
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17. Consumer Protection Act was passed in  

(a) 1886  

(b) 1986 

(c) 1996 

(d) 1997 

 

18. Headquarters of SEBI is in  

(a) Delhi 

(b) Mumbai 

(c) Kolkata 

(d) Chennai 

 

19. Grapevine is 

(a) formal communication  

(b) barrier to communication 

(c) lateral communication 

(d) informal communication 

 

20. Marketing includes 

(a) Purchase 

(b) Sales 

(c) Warehousing 

(d) All of these 

 

21. Advertisement is deemed as  

(a) Wastage 

(b) Investment 

(c) Luxury on 

(d) None of these 
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22. Bank overdraft facilities are available on  

(a) Savings Bank Account  

(b) Current Account 

(c) Term Deposit Account  

(d) None of these 

 

23. New issued shares deal in 

(a) Secondary Market 

(b) Primary Market 

(c) secondary market and primary market both  

(d) none of these  

 

24. Budget is a....... statement of budgetary policy.  

(a) Financial 

(b) Final  

(c) Work 

(d) Non-financial 

 

25. Main component (s) of New Economic Policy is/are 

(a) Liberalisation 

(b) Globalisation 

(c) Privatisation 

(d) All of these  

 

26. Authority cannot be delegated of 

(a) Routine work  

(b) Secret work 

(c) Ordinary work 

(d) None of these 
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27. The propounder of administrative management was 

(a) Fayol 

(b) Taylor 

(c) Terry  

(d) None of them  

 

28. Which of the following depends on the sweet will of employees? 

(a) Formal Organisation 

(b) Informal Organisation 

(c) Functional Organisation  

(d) Divisional Organisation 

 

29. Co-ordination is 

(a) voluntary 

(b) necessary 

(c) unnecessary 

(d)) waste of time 

 

30. Fixed capital is needed. For .................. period.  

(a) short 

(b) long 

(c) short and long both 

(d) none of these 

 

31. Controlling is the ........... aspect of management.  

(a) theoretical  

(b) practical 

(c) mental 

(d) physical 
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32. Which of the following is not a characteristic of entrepreneurship ? 

(a) Risk taking  

(b) Innovation 

(c) Creative activity 

(d) Managerial training 

 

33. Comprehensive plan for accomplishing an organisation's objectives is known as 

(a) Policy  

(b) Programme  

(c) Objective 

(d) Strategy  

 

34. Barrier in effective communication is 

(a) language 

(b) distance 

(c) individual differences  

(d) all of these 

 

35. Which one amongst the following is not the consumer product? 

(a) Raw materials 

(b) Refrigerator  

(c) Old statues 

(d) Shoes 

 

36. The disputes which come under Consumer Protection Act are 

(a) disputes as to sale of shares by a company  

(b) disputes of Penal Nature 

(c) disputes as to sale of defective goods by the seller 

(d) service disputes 
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37. Entrepreneurial Development Institute of India is situated in 

(a) Ahmedabad 

(b) Mumbai 

(c) New Delhi 

(d) Chennai 

 

38. The organisation spreading rumours is called 

(a) Formal 

(b) Informal 

(c) Centralised  

(d) Decentralised 

 

39. The maximum duration of commercial paper is 

(a) 3 months  

(b) 6 months 

(c) 12 months  

(d) 24 months 

 

40. Stock exchange protects the interest of 

(a) Investor  

(b) Company  

(c) Government 

(d) None of these 

SECTION-B 

Question Nos. 1 to 10 are of Short Answer Type. Each question carries 3 marks. 

1. What do you mean by levels of management ? 

2. Write the different steps in the process of organising. 

3. What is meant by capital structure? 

4. Distinguish between Centralisation and Decentralisation. 
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5. Discuss in brief, any three principles of Scientific Management 

 6. Give three advantages of budgetary control. 

7. Why is entrepreneurship regarded as a creative activity?  

8. Planning is a continuous process. How? Explain. 

9. What do you mean by Promotion mix ? 

10. Distinguish between formal and informal communications. 

 

Question Nos. 11 to 15 are Long Answer Type. Each question is of six marks.  

11. "Money spent on advertisement is a social waste." Do you agree with this?  

12. What do you mean by staffing? Is it a part of Human Resource Management? 

Clarify.  

13. "Co - ordination is the essence of management".Explain this statement. 
 

14. Why is delegation necessary for an effective organisation?

 15. Define Financial Management and discuss its objectives.

 

 

 

******* 
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